Non- Steroidal Anti-inflammatory drugs and Antibiotics – CALCULATIONS

· Flunixin Meglumine
Dose = 1.1 mg/kg

Concentration = 50 mg/ml

Calf 1

Weight = 85 kg

Volume (ml) = (Dose (mg/kg) × Weight (kg)) / Concentration (mg/ml)

                       = (1.1 mg/kg × 85 kg) / 50 mg/ml

                       = 1.87 ml ≈ 1.9ml

Calf 2:

Weight = 120kg

Volume (ml) = (Dose (mg/kg) × Weight (kg)) / Concentration (mg/ml)

                       = (1.1 mg/kg × 120 kg) / 50 mg/ml

                       =2.64 ml ≈ 2.6 ml

· Penicillin- Streptomycin
Dose = 20 000 IU/kg
Concentration = 200 000 IU /ml

Calf 2
Weight = 120 kg

Volume (ml) = (Dose (mg/kg) × Weight (kg)) / Concentration (mg/ml)

                       = (20 000 mg/kg × 120 kg) / 200 000 mg/ml

                       = 12 ml
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